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ved - I

1. oadgy aPanndsepdsh  aParewe.

2. sPwaen e emvwd CsidoIs®ds srepsnb.
{x, y, 2} eeflo Aen Qeupmis sewnbleoeons 2__semnmiserflen

smeuwd: 1.30 wewf]

&POy: 7x1=7

1) s A =

a) 8 b) 5 c) 6 d) 7
2) AUB = ANB ereflév .............
a)AzB b)A=B c)AcB d)BcA
3) A={0} vpmw B = P(A) etefleo AnB = .............
a) {¢ {0}} b) {o} c)o d) {0}
4) P, Q, R stetiuen semeuGueniid eypeiiny sewmser stefled P-(QR) = .............
a) P-(QuR) b) (PnQ)-R c) (P-Q)u(P-R) d) (P-Q)n(P-R)
5) Aemeumeusmeunmyst 618 eNflswp 6voT ?
a) V25 b) \/g c) % - d)r
6) 2 womb 2.5 a6 cEEEBEEHamLCu 2 _dten e eNdsDT T ..........
a) Vi1 b) V5 c) V2.5 d) V8
7) 034+0.34=............
a) 0.687 b) 0.68 c) 0.68 d) 0.687

ved - 1II
6POy: 1. pie dasdsardy ol BGd Pawad.
2. Gadraf aein 14d6 slLauib BoLwab,
8) Yemaumw sevsamg elaufgze empulled e(psis.
Q={7,11,13,17, 19, 23, 29}

9) A ={a, blen 2 semigemng 61955 v
10) A = {b, e, f, g}, B ={c, e, g, h} aefllev semmusesflsn Gemiy uflorHmyt

5x2=10

uessTenL S,

1024
11) ﬁdﬂ S6ugl ppeVGmGE SeT.

12) a=2++3,b=2-+3 Goeud x = a+b, y = a-b ewerfleo X, y ersirLsy N5 pmy
sTevTewTn 3606vg) eNASUPMN ETeTOTERIN TS SHN6TIIS.

13) oileflweo &MuSL1q60 TG &:
i) 2000.57 i) 0.0009000002

14) A ={6,7,8, 9} wpmib B = {8, 10, 12} sexfler AAB areiurs.
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15)

16)
17)

19)

20)

21)

22)

P

ugd - 111
1. pig Pmidsepds of Gib e wef, 5x5=25
2. Pan e 214@ & amdh oot waf.
U=401,234,56 7}, A={1,3,5 7),B=1{0,235 7} aefé
Nemaumid semmaenen snermas. (i) A (i) B' (i) A'OB" (iv) A't\B' (v) (A")".
Qaerul_gena) Lwemu®&H AN(BUC) = (ANB) U (ANC) stemmusmgs sflurisas.
A=1{b,c,e,qg,h}y, B=1{a,c d qg,i}, C={a,d, e g, h} eaflev
A-(BNC) = (A-B) U (A-C) sretmemg aflunm.
e soenflille o sen wremaisafleo 240 Gui wiem 1 ukgw, 180 Gunr
sreoung ., 164 Cun eusmenGaned Lkbgn, 42 Guir w1 UKD SrOuUBEW, 38
Cui sreoumgIL auemenGans umgw, 40 Cui L Lk aummGHETE LK,
16 Gun gpenpy efememun_(HaeEmHn efevemwnHdmrrser. eubleun, WIEmTE D
GODHSE  @m  eleemunligeorsug umGspdprt  aeflo (i)  Corss
wneweuiseflsn aameflsms (i) Cr om elememwn_(h w (b eSlensmwrBin

rewTeLnSEetley sTevmenfl&Hamss &neusTs.

1 & ss0 floal LwaLGFGH 37 Qe s ssw dflmas sraws.

11 33

.71 .
@S mps 33 sow dflmeas 56

wn@sma @nh@afamsulen mwss: %/%, 3111/7, V3 '
{9.3 p aamlaniiye @Plssea.
ved - IV 1x8=8

auenTUL L euenrs: Y = 2X (00 )

auenTUL LD euemrs: Y = 3X-1
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